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HW 1 Compute the magnitude F of the force which the sun exerts on the earth. Perform the
calculation first in pounds and then convert your result to newtons. Refer to Table D/2 for

necessary physical properties.
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HW 2 The force F applied at O has two components, one along a-a and the other along b-b. If the

component along b-b has a magnitude of 300 N, calculate the component along a-a and the value

of F.
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HW 3 The special-purpose milling cutter is subjected to the force of 1200 N and a couple of 240

N.m as shown. Determine the moment of this system about point O
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HW 4 1In an attempt to pull down a nearly sawn-through branch, the tree surgeon exerts a 400 N

pull on the line which is looped around the branch at A. Determine the moment about point C of

the force exerted on the branch and state the magnitude of this moment.
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HW 5-If the screw B of the wood clamp is tightened so that the two blocks are under a
compression of 500 N, determine the force in screw A. (Note: The force supported by each screw

may be taken in the direction of the screw.)
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HW 6-The three-wheel truck is used to carry the 100-kg box as shown. Calculate the changes in

the normal force reactions at the three wheels due to the weight of the box.
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